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QUESTION 1

Which two are "Are SP and Device Ready?" state algorithms for Enable Service? (Choose two.) 

A. Customer Device Compatibility Check 

B. Create Service Point 

C. Check for Measurement 

D. Create Usage Subscription 

E. Start Service Agreement 

Correct Answer: AC 

Reference: https://docs.oracle.com/cd/E63094_01/PDF/SGG_SOM_Configuration_Guide_v2_1_0_3.pdf 

(17 and 21) 

 

QUESTION 2

Usage transactions can contain date breaks. Which is used to supply date breaks? 

A. the Deferred Monitor Calculation Algorithm 

B. the Usage Subscription Type 

C. the requesting system or user input 

D. the Usage Subscription BO 

Correct Answer: B 

 

QUESTION 3

What correctly describes the possible causes of price proration? 

A. change in Bill Factor only 

B. changes in Rate Schedule and Bill Factor only 

C. change in Rate Schedule only 

D. change in Rate Version Calculation Group only 

E. changes in Rate Version Calculation Group and Bill Factor only 

Correct Answer: B 

 

1Z0-996 Practice Test | 1Z0-996 Exam Questions | 1Z0-996 Braindumps                                2 / 3

https://www.leads4pass.com/1z0-996.html
https://www.leads4pass.com/1z0-996.html
https://www.leads4pass.com/1z0-996.html


https://www.leads4pass.com/1z0-996.html
2024 Latest leads4pass 1Z0-996 PDF and VCE dumps Download

Reference: https://docs.oracle.com/cd/E18733_01/pdf/E18367_V3_01.pdf 

 

QUESTION 4

The base package usage transaction business object is represented by D2-UsageTransaction. The usage calculation
engine or process drives the specifics of the usage to be calculated on this business object. 

Based on this, which three configuration areas will have an impact on the usage calculation process? (Choose three.) 

A. VEE rule 

B. TOU map 

C. Usage Rule 

D. Factor Override 

Correct Answer: BCD 

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf 

 

QUESTION 5

For a customer to receive a Subscription communication, what must they have? 

A. an active address contact preference 

B. an active address type preference 

C. an active person contact preference 

D. an active account contact preference 

Correct Answer: D 
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